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Instructions / Ʌૂચના 
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.

Physical submission of suggestions will not be considered.
(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the

website / online objection submission system.
(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional

answer key (Master Question Paper), published herewith on the website / online objection
submission system. Objections should be sent referring to the Question, Question No. & options of the 
Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master Question 
Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer 
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question 
in single sheet shall not be considered.

ઉમેદવાર° નીચનેી Ʌચૂનાઓȵુ ંપાલન કરવાની તક°દાર� રાખવી, અƛયથા વાધંા-Ʌચૂન Ӕગે કર°લ રȩૂઆતો ƚયાન ેલવેાશે નહӄ 

(1) ઉમેદવાર° વાધંા-ંɅચૂનો ફƈત ઓનલાઈન ઓƞȐƈશન સબમીશન સીƨટમ Ďારા જ સબમીટ કરવાના રહ°શે. ĮબĮ અથવા ટપાલ 

Ďારા આયોગની કચરે�એ મોકલવા આવલે વાધંા-Ʌચૂનો ƚયાન ેલવેામા આવશ ેનહӄ Ȑની ખાસ નҭધ લવેી. 

(2) ઉમેદવાર° વાધંા-Ʌચૂનો રȩૂ કરવા વબેસાઈટ / ઓનલાઈન ઓƞȐƈશન સબમીશન સીƨટમ પર ̆ િસƚધ થયલે િનયત નȺનૂાનો
જ ઉપયોગ કરવો. 

(3) ઉમેદવાર° પોતાને પર�ëામા ંમળેલ ̆ ĕપȶ�ુƨતકામા ંછપાયલે ̆ ĕ˲માક Ⱥજુબ વાધંા-Ʌચૂનો રȩૂ ન કરતા તમામ વાધંા-Ʌચૂનો 
વબેસાઈટ પર ̆િસƚધ થયલે ̆ોિવઝનલ આƛસર ક� (માƨટર ̆ ĕપ́)ના ̆ ĕ ˲માકં Ⱥજુબ અને તે સદંભ½મા ંરȩૂ કરવા. 

(4) માƨટર ̆ĕપ́મા ંિન�દ�Ƨટ ̆ ĕ અને િવકƣપ િસવાયના વાધંા-Ʌચૂનો ƚયાને લવેામા ંઆવશ ેનહӄ. 

(5) ઉમેદવાર°  ̆ ĕના િવકƣપ પર વાધંો રȩૂ કર°લ છે અને િવકƣપ Įપે Ȑ જવાબ Ʌચૂવલે છે એ જવાબ ઉમેદવાર° પોતાની ઉĂરવહ�મા ં
આપલે હોવો જોઈએ. ઉમેદવાર° Ʌચૂવલે જવાબ અને ઉĂરવહ�નો જવાબ  �ભđ હશ ેતો ઉમેદવાર° રȩૂ કર°લ વાધંા-Ʌચૂનો 
ƚયાનમા લવેાશે નહӄ. 

(6) એક ̆ĕ માટ° એક જ વાધંા-Ʌચૂન પ́ક વાપરɂુ.ં એક જ વાધંા-Ʌચૂનો પ́કમા ંએકથી વધાર°  ̆ĕોની રȩૂઆત કર°લ હશ ેતો ત ે

Ӕગનેા વાધંા-Ʌચૂનો ƚયાન ેલવેાશે નહӄ. 

Website link for online objection submission system : www.safevaults.in/login 
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001. Lke[uLkk rðÄkLkku rð[khýk{kt ÷RLku fÞwt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(1) ¼khíkLkwt fw÷ ûkuºkV¤ rðïLkk fw÷ ûkuºkV¤Lkk 2042 xfk Au.

(2) ûkuºkV¤Lke Ërüyu ¼khík rðïLkku Aêk ¢{u ykðíkku Ëuþ Au.

(A) çktLku rðÄkLkku Mkk[kt Au. (B) çktLku{ktÚke yufÞ rðÄkLk Mkk[wt LkÚke

(C) {kºk (2) (D) {kºk (1)

002. Lke[uLkk hkßÞku{ktÚke  Mkki Ãknu÷kt fÞk hkßÞLkwt rLk{koý ÚkÞwt níkwt

(A) Lkkøkk÷uLz (B) nrhÞkýk

(C) {u½k÷Þ (D) rMkr¬{

003. ¼khíkLke ðMíke økýíkhe 2011 yLkwMkkh ¼khíkLke fw÷ ðMíkeLkk xfkLkk MktË¼o{kt Lke[uLkk{ktÚke fÞk hkßÞLke ðMíkeLke
xfkðkhe MkkiÚke ykuAe Au ?

(A) {rýÃkwh (B) {u½k÷Þ

(C) rMkr¬{ (D) r{Íkuh{

004. f]»ýk, fkðuhe yLku økkuËkðhe LkËeyku fÞk Wå[«Ëuþ{kt Ãkrù{Úke Ãkqðo íkhV ðnu Au ?

(A) ËÏ¾ýLkku {wÏÞ Wå[«Ëuþ (B) {k¤ðkLkku Wå[«Ëuþ

(C) {nkhk»xÙLkku Wå[«Ëuþ (D) íku÷tøkýk Wå[«Ëuþ

005. ÷½w rn{k÷ÞLkk Zku¤kðku{kt ykðu÷k [rhÞký ûkuºkkuLku fk~{eh{kt þwt fnuðkÞ Au ?

(A) çkwøÞk÷ (B) ÃkÞkh

(C) {øko (D) WÃkh{ktÚke yuf Ãký Lkne

006. sðknh Mkwhtøk fÞk ykðu÷ Au ?

(A) çkwŠÍ÷ ÃkkMk (B) ÃkehÃktòçk ÃkkMk

(C) çkrLknk÷ ÃkkMk (D) fkhkfkuh{ ÃkkMk

007. Lke[uLkk rðÄkLkku rð[khýk{kt ÷RLku fÞwt rðÄkLk/rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.¼khík{kt

(1) Ãkrù{e íkx Ãkh ðhMkkË Ãkrù{Úke Ãkqðo íkÚkk W¥kh-Ãkqðo íkhV síkkt ykuAku Úkðk ÷køku Au.

(2) W¥khLkk {uËkLk yLku áeÃkfÕÃkLkk W¥kh ¼køk{kt ðhMkkËLkwt «{ký Ërûký-ÃkqðoÚke W¥kh-Ãkrù{ íkhV síkkt ½xíkwt òÞ Au

(A) {kºk 1 (B) {kºk 2

(C) çktLku{ktÚke yufÞ Mkk[wt LkÚke. (D) (1) yLku (2) çktLku Mkk[kt Au.

008. ¼khík{kt fÞk «fkhLke s{eLk{kt ðÄw s¤ Äkhý ûk{íkk òuðk {¤u Au ?

(A) ÷k÷-hkíke s{eLk (B) ÷uxuhk Rx s{eLk

(C) fk¤e s{eLk (D) huíkk¤ s{eLk

009. ÃkrhMkh íktºkkuLkk ðirðæÞLke Mk{]ræÄLke árüyu økwshkík Ëuþ{kt..........¢{u ykðíkwt hkßÞ Au.

(A) Ãkkt[{kt (B) [kuÚkk

(C) Mkkík{k (D) Aêk

010. ÷kfzkt ðnuhðkLke Mkhfkh Mkt[kr÷ík yuf {kºk r{÷ fÞk rsÕ÷k{kt ykðu÷ Au ?

(A) zktøk (B) ð÷Mkkz

(C) Ãkt[{nk÷ (D) Mkqhík
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011. økwshkík zkRÍLkk WíÃkkËLk{kt Ëuþ{kt fÞk MÚkkLku Au ?

(A) çkeò (B) Ãknu÷k

(C) ºkeò (D) [kuÚkk

012. MkktøkkLkuh nðkR{Úkf fÞkt ykðu÷wt Au ?

(A) òuÄÃkwh (B) sÞÃkwh

(C) LkkøkkÃkwh (D) y{]íkMkh

013. Mkhn÷Lkku íknuðkh fÞk hkßÞ{kt {Lkkððk{kt ykðu Au ?

(A) rn{k[÷ «Ëuþ (B) {nkhk»xÙ

(C) Íkh¾tz (D) {æÞ«Ëuþ

014. Mkkihk r[ºkf÷k fkuLke MkkÚku MktçkrÄík Au ?

(A) rçknkh (B) ykurzþk

(C) íku÷tøkýk (D) hksMÚkkLk

015. ¼khík yLku ÃkkrfMíkkLkLkk rð¼ksLk Mk{Þu ¼khík{kt fux÷k hurzÞku fuLÿ níkk ?

(A) ºký (B) [kh

(C) Ãkkt[ (D) A

016. fwMkw{ rð÷kMk {nu÷ yLku «u{ ¼ðLk {nu÷ Lke[uLkk{ktÚke fÞk MÚk¤u ykðu÷ Au ?

(A) økkUz÷ (B) AkuxkWËuÃkwh

(C) {kuhçke (D) ðktMkËk

017. ÷e÷k {w¾hS yLku {]ýkr÷Lke {w¾hS Lke[uLkk{ktÚke fkuLke MkkÚku Mkt÷øLk níkk ?

(A) r[ºkf÷k (B) Mktøkeík

(C) Lk]íÞ (D) rþÕÃkf¤k

018. y{ËkðkË{kt ykðu÷ ¼ÿLkku rfÕ÷ku Mkw÷íkkLk yn{Ë þkn îkhk fÞk ð»ko{kt çkktÄðk{kt ykðu÷ níkku ?

(A) R.Mk. 1415 (B) R.Mk. 1410

(C) R.Mk. 1411 (D) R.Mk. 1421

019. økwshkík{kt ¼khíkeÞ MktMf]rík ËþoLk BÞwrÍÞ{ fÞk ykðu÷ Au ?

(A) ¼ws (B) hksfkux

(C) y{ËkðkË (D) ðzkuËhk

020. çkkçkk ÃÞkhu çkkiæf økwVkyku Lke[uLkk{ktÚke fÞk MÚk¤u ykðu÷ Au ?

(A) hksfkux (B) {nuMkkýk

(C) swLkkøkZ (D) ¼kðLkøkh

021. ÞwLkuMfkuLke ðÕzo nuhexus MkkRxMk{kt hkýeLke ðkð ÃkkxýLkku Mk{kðuþ fÞk ð»ko{kt fhðk{kt ykðu÷ Au ?

(A) R.Mk. 2014 (B) R.Mk. 2015

(C) R.Mk. 2016 (D) R.Mk. 2012

022. økwshkík{kt YrÃkÞk Mkku fhkuzLkk ¾[uo ykrËðkMke BÞwÍeÞ{Lke MÚkkÃkLkk fÞk MÚk¤u fhðk{kt ykðe  hnu÷ Au ?

(A) ðkMktËk (B) MkkÃkwíkkhk

(C) LkðMkkhe (D) hksÃkeÃk¤k
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023. LkuþLk÷ Lkku÷us LkuxðfoLke MÚkkÃkLkk fÞk ð»ko{kt ÚkR níke ?

(A) 2010 (B) 2012

(C) 2014 (D) 2015

024. Lke[uLkk{ktÚke fkuLku ¿kkLkÃkeX ÃkwhMfkh {¤u÷ LkÚke ?

(A) W{kþtfh òuþe (B) {Lkw¼kR Ãkt[ku¤e ‘‘Ëþof’’

(C) hksuLÿ þkn (D) h½wðeh [kiÄhe

025. Þtøk çktøkk÷ {wð{uLx Lke[uLkk{ktÚke fkuLkk îkhk þY fhðk{kt ykðu÷ níke ?

(A) fuþð[Lÿ MkuLk (B) Rïh[Lÿ rðãkMkkøkh

(C) nuLkhe zuhkuSÞku (D) WÃkhLkk Ãkife yufÃký Lknª

026. þíkLkk{e yktËku÷LkLke þYykík Lke[uLkk{ktÚke fkuýu fhe níke ?

(A) nrhËkMk Xkfwh (B) ©e LkkhkÞý økwÁ

(C) ßÞkuríkhkÞ Vw÷u (D) ½kMkeËkMk

027. Lke[uLkk rðÄkLkku rð[khýk{kt ÷RLku fÞwt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(1) R.Mk 1881 {kt RÕçkxo rçk÷ ÷køkw ÃkkzðkLkku «ÞkMk fhðk{kt ykðu÷ níkku.

(2) yk rðÄuÞf{kt ¼khíkeÞ LÞkÞkÄeþ Ãký rçkúxeþ yÚkðk ÞwhkurÃkÞLk ÔÞÂõíkyku Ãkh {wfÆ{ku [÷kðe þfþu íkuðe òuøkðkR
níke.

(A) {kºk (1) (B) {kºk (2)

(C) (1) yLku (2) çktLku (D) çktLku{ktÚke yufÞ Lkne

028. fk÷eçktøkkLkk ¾kuËfk{ MkkÚku Lke[uLkk{ktÚke fkuLk Mkt÷øLk Au ?

(A) çke.çke ÷k÷ (B) çke.fu ÚkkÃkh

(C) çke.çke.÷k÷ yLku çke.fu ÚkkÃkh (D) yuMk.ykh.hkð

029. {nkðeh Mðk{eLke rþûkkykuLkk MkkrníÞLku Mktfr÷ík fhðk {kxu çkeS siLk Mk¼kLkwt ykÞkusLk fÞk MÚk¤u ÚkÞu÷ níkwt ?

(A) ðÕ÷¼e (B) Ãkkx÷eÃkwºk

(C) WËÞrøkrh (D) ©ðý çku÷økkuzk

030. ytøk {nksLkÃkËLke hksÄkLke fR níke ?

(A) yÞkuæÞk (B) [tÃkk

(C) fwþeLkøkh (D) fkiþkt÷e

031. ‘‘rð¢{krËíÞ’’ WÃkkrÄ Äkhý fhLkkh økwÃík þkMkf fkuý níkku ?

(A) hk{økwÃík (B) Mk{wÿøkwÃík

(C) [LÿøkwÃík Ãknu÷ku (D) [LÿøkwÃík çkeòu

032. Lke[uLkk {w½÷ þkMkfku{kt MkkiÚke ðÄw ð»kkuo þkMkLk fhLkkh þkMkf fkuý níkku ?

(A) snktøkeh (B) þknsnkt

(C) çkkçkh (D) nw{kÞwt
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033. y÷kWÆeLk ¾e÷SLkk rðsÞLku fk÷¢{kLkwMkkh økkuXðeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(1) r[íkkuz          (2) {k¤ðk          (3) hýÚkt¼kuh          (4) {khðkz
(A) (3), (1), (2), (4) (B) (3), (1), (4), (2)
(C) (1), (3), (2), (4) (D) (1), (3), (4), (2)

034. rnLËLkk fk{[÷kW økðLkoh shLk÷ yuz{u {k[o, 1823 {kt rnLËLkk y¾çkkhku Ãkh {qfu÷kt Mkhfkhe ytfwþkuLku hË fhíkku
fkÞËku ykuøkMx, 1853 {kt fÞk økðLkoh shLk÷u fÞkuo níkku ?

(A) ÷kuzo yu{nMxo (B) Mkh [kÕMko {uxfkV

(C) rðr÷Þ{ çkxhðÚko çku÷u[ (D) ÷kuzo rðr÷Þ{ çkuÂLxf

035. fuçkeLkux r{þLk ÞkusLkk ytíkøkoík..........{kt MktrðÄkLk Mk¼kLkwt øknLk ÚkÞwt níkwt.

(A) sw÷kR 1945 (B) sw÷kR 1946

(C) ykuøkMx 1946 (D) MkÃxuBçkh 1945

036. Mktøk{ Þwøk Ëhr{ÞkLk Lke[uLkk{ktÚke fÞwt ðtþ Mkºkk{kt Lk níkwt ?

(A) ÃkktzÞ (B) [uh

(C) [ku÷k (D) ÃkÕ÷ð

037. hk»xÙeÞ ¾kã Mkwhûkk yrÄrLkÞ{, 2013 Lkk MktË¼o{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷RLku fÞwt rðÄkLk / rðÄkLkku Mkk[wt /
Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(1) yk yrÄrLkÞ{ Mk{økú Ëuþ{kt íkk-5-7-2013 Úke ÷køkw ÚkÞu÷ Au.

(2) yrÄrLkÞ{ ytíkøkoík Ãkkºk ÔÞÂõíkLku [ku¾k,½W yLku {kuxw yLkks ¢{þ YrÃkÞk 3,2 yLku 1 «rík rf÷kuøkúk{Lkk MknkÞf
ËhÚke Ëh {kMku ykÃkðkLke òuøkðkR Au ?

(A) {kºk (1) (B) {kºk (2)

(C) (1) yLku (2) çktLku (D) çktLku{ktÚke yufÞ Lknª

038. ßÞkhu VwøkkðkLkku Ëh fux÷k xfk fu íkuÚke ykuAku nkuÞíkku íkuLku {tË VwøkkðkLke ÂMÚkrík fnu Au ?
(A) 2 (B) 3
(C) 4 (D) 5

039. rzrsx÷ yÚkoÔÞðMÚkk{kt LkkøkrhfkuLkku rðïkMk yLku ¼hkuMkku ò¤ðe hk¾ðk {kxu ¼khíkeÞ rhÍðo çkuLf îkhk fÞk ð»ko{kt
÷kufÃkk÷ ÞkusLkk þY fhðk{kt ykðu÷ Au ?

(A) R.Mk. 2019 (B) R.Mk. 2018

(C) R.Mk. 2017 (D) R.Mk. 2021

040. ¼khík{kt f{o[kheykuLkk {ku½ðkhe ¼ÚÚkkLkkt rLkÄkohý {kuxuLkku ykÄkh Au..........

(A) SðLkMíkh (B) hk»xÙeÞ ykðf

(C) økúknf {qÕÞ Mkq[fktf (D) «rík ÔÞÂõík ykðf

041. ykiÄkurøkf fk{Ëkhku {kxu Lke[uLkk{ktÚke fkuý WÃk¼kuõíkk ®f{ík Mkq[fktf Lkefk¤u Au ?

(A) ¼khíkeÞ rhÍðo çkuLf (B) rðºk {tºkk÷Þ

(C) Lkerík ykÞkuøk (D) ©{ çÞqhku

042. ÞwÃkeykR (United Payments Interface- UPI) Lke þYykík õÞk ð»ko{kt ÚkR níke ?
(A) 2019 (B) 2016
(C) 2018 (D) 2017
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043. fwMkw{ ÞkusLkk {kxu Lke[uLkk{ktÚke fÞwt {tºkk÷Þ Mkt÷øLk Au ?

(A) ÃkÞoxLk {tºkk÷Þ (B) rðºk {tºkk÷Þ

(C) f]r»k yLku rfMkkLk fÕÞký {tºkk÷Þ (D) LkðeLk yLku LkðefhýeÞ Wòo {tºkk÷Þ

044. rzÍex÷ RÂLzÞk fkÞo¢{ ytíkøkoík rðfkMkLkk fux÷k Míkt¼kuLkku Mk{kðuþ ÚkÞu÷ Au ?

(A) Mkkík (B) Lkð

(C) Ãkkt[ (D) ykX

045. f]r»k çkòhkuLke yãíkLk {krníke {u¤ðeLku íkuLku Mktfr÷íkYÃku Lke[uLkk Ãkife fkuý ònuh fhu Au ?

(A) zkÞhufxh ykuV {kfuoxªøk yLkuz RLMÃkufþLk (B) Vwz fkuÃkkuohuþLk ykuV RÂLzÞk

(C) zkÞhufxh ykuV RfkuLkku{eõMk yuLz MxuxuMxeõMk (D) LkuþLk÷ fkWÂLMk÷ ykuV yuÃ÷kRz RfkuLkku{eõMk rhMk[o

046. ònuh ðneðxe fkÞkuo{kt ©ucíkk {kxu «ÄkLk{tºke ÃkwhMfkhLke þYykík fÞk ð»ko{kt fhðk{kt ykðu÷ níke ?
(A) 2007 (B) 2009
(C) 2014 (D) 2015

047. fÞk Lkkýkt Ãkt[{kt ykÃkr¥k ÔÞðMÚkkÃkLk {kxu LkkýkfeÞ ÔÞðMÚkkLke Mk{eûkk fhðkLkwt yrLkðÞo fhðk{kt ykðu÷ níkwt

(A) yrøkÞkh{kt (B) çkkh{kt

(C) Ëþ{kt (D) íkuh{kt

048. yufef]ík yLku Mktíkwr÷ík ¼kð {k¤¾wt çkLkkððkLkk WËuþÚke h[kÞu÷ f]r»k ¾[o yLku ®f{íkku {kxuLkk ykÞkuøkLkwt fkÞo fux÷k
Ãkkfku {kxu LÞqLkík{ Mk{ÚkoLk {qÕÞ «rík Mk÷kn ËuðkLkwt Au ?
(A) 21 (B) 25
(C) 23 (D) 20

049. yMÃk]~ÞíkkLkku ytík ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuË îkhk fhðk{kt ykðu÷ Au ?
(A) 20 (B) 19
(C) 18 (D) 17

050. ¼khíkLkk MktrðÄkLk{kt {q¤¼qík VhòuLku fÞk MktrðÄkLkef MkwÄkhk yrÄrLkÞ{Úke Mkk{u÷ fhðk{kt ykðu÷ Au ?

(A) 7 {kt MkwÄkhk MktþkuÄLk yrÄrLkÞ{ (B) 15 {kt MkwÄkhk MktþkuÄLk yrÄrLkÞ{

(C) 42 {kt MkwÄkhk MktþkuÄLk yrÄrLkÞ{ (D) 44 {kt MkwÄkhk MktþkuÄLk yrÄrLkÞ{

051. ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuË{kt hkßÞLku økúk{Ãkt[kÞíkLke h[Lkk fhðk {kxuLkku rLkËuoþ ykÃkðk{kt ykðu÷ Au ?

(A) yLkwåAuË - 39 (B) yLkwåAuË - 40

(C) yLkwåAuË - 41 (D) yLkwåAuË - 42

052. ¼khíkLkkt MktrðÄkLkLkk fÞk ¼køkLku ‘‘ykí{k’’ Lke Mkt¿kk ykÃkðk{kt ykÃku÷ Au ?

(A) yk{w¾ (B) {q¤¼qík n¬ku

(C) MktrðÄkrLkf n¬kuLkk y{÷ fhððk {kxuLkk WÃkkÞku (D) MktrðÄkLk MkwÄkhýk «rfÞk

053. ¼khíkLkk LkkøkrhfkuLkk {q¤¼qík n¬kuLke MktÏÞk fux÷e Au ?
(A) 4 (B) 5

(C) 6 (D) WÃkh Ãkife yufÃký Lkne.

054. ¼khíkLkk MktrðÄkLk yLkwMkkh Mkt½Lke fkhkuçkkhe Mkíkk fkuLkk{kt rLkrník Au ?

(A) «ÄkLk{tºke (B) hk»xÙÃkrík

(C) {tºke{tz¤ (D) WÃkhLkk ík{k{
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055. ¼khíkLkk Wå[ík{ LÞkÞk÷Þ{kt LÞkÞkÄeþkuLke fw÷ MktÏÞk fux÷e Au ?

(A) 30 (B) 31
(C) 32 (D) 34

056. hk»xÙÃkrík Ãkh {nkr¼ÞkuøkLkku ykhkuÃk MktMkËLkk fÞk øk]n îkhk ÷økkðe þfkÞ Au

(A) ÷kufMk¼k (B) hkßÞMk¼k

(C) MktMkËLkk fkuRÃký øk]n îkhk (D) WÃkh Ãkife yufÃký Lkne.

057. ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuË nuX¤ hk»xÙÃkríkLku Wå[ík{ LÞkÞk÷ÞLkku Ãkhk{þo {ktøkðkLkku yrÄfkh Au ?

(A) yLkwåAuË - 129 (B) yLkwåAuË - 143

(C) yLkwåAuË - 140 (D) yLkwåAuË - 145

058. Lkkýk ykÞkuøkLke h[Lkk fkuý fhe þfu Au ?

(A) hk»xÙkÃkrík (B) ðzk«ÄkLk

(C) MktMkË (D) {tºke{tz¤

059. ÷kuf Mkuðk ykÞkuøkLkk fkÞkuoLke òuøkðkR ¼khíkLkk MktrðÄkLk{kt fÞk yLkwåAuË fhðk{kt ykðe Au ?

(A) yLkwåAuË - 317 (B) yLkwåAuË - 318

(C) yLkwåAuË - 319 (D) yLkwåAuË - 320

060. [qtxýe ykÞkuøk, {wÏÞ [qtxýe fr{þLkh yLku çkeò fux÷k [qtxýe fr{þLkhkuLkwt çkLku÷wt nkuðwt òuRyu ?

(A) 2 (B) 3

(C) ¼khíkLkk MktrðÄkLk{kt MktÏÞk rLkÞík ÚkÞu÷ LkÚke. (D) 4

061. Lke[uLkk Wíkhíkk ¢{{kt økkuXðku.

3 4 8,  ,  
5 7 9  yLku 

9
11

(A) 9 8 3 4, , ,
11 9 5 7

   (B) 8 9 3 4, , ,
9 11 5 7
   

(C) 8 9 4 3, , ,
9 11 7 5
   (D) 9 8 4 3, , ,

11 9 7 5
   

062. 876 + 237 + 876  663 = ...?....
(A) 876400 (B) 784800
(C) 788400 (D) 878400

063. 37600  470  40 = ...?....
(A) 5 (B) 6
(C) 4 (D) 2

064. «&™kÚkor[Ln{kt fE MktÏÞk ykðþu ?

64 8 2
?
 

(A) 16.2 (B) 8.1
(C) 1.62 (D) 8.2
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065. ºký MktÏÞkyku{kt, çkeò LktçkhLke MktÏÞk Ãknu÷k LktçkhÚke çku økýe yLku ºkeò LktçkhLke ºký økýe Au. òu yk ºký MktÏÞkykuLke
MkhuMkkþ 44 Au, íkku {kuxe MktÏÞk fE nþu ?

(A) 36 (B) 72
(C) 76 (D) 132

066. fkuE yuf ðMíkwLke ðu[ký ®f{ík íkuLke {q¤ ®f{íkLke 
7
5  Au, íkku ÷k¼ fux÷k xfk Úkþu ?

(A) 40% (B) 60%
(C) 140% (D) 160%

067. òu 340 rMkffkyku 1 YrÃkÞk, 50 ÃkiMkk yLku 25 ÃkiMkkLkk Au yLku íkuLkku økwýkuíkh 9:3:5  Au íkku 50 ÃkiMkkLkk rMkffkykuLke MktÏÞk
fux÷e nþu ?

(A) 180 (B) 100
(C) 60 (D) 80

068. yuf Ãkheûkk{kt 45% rðãkÚkeoyku ÃkkMk ÚkÞk Au yLku 385 rðãkÚkeoyku LkkÃkkMk ÚkÞk Au, íkku Ãkheûkk{kt fw÷ fux÷k rðãkÚkeoyku
çkuXk nþu ?

(A) 850 (B) 800
(C) 600 (D) 700

069. òu çku MktÏÞykuLkku 60 Mkhðk¤ku Au yLku íkuLkku íkVkðík 14 Au íkku LkkLke MktÏÞk fE nþu ?

(A) 20 (B) 23
(C) 19 (D) 21

070. A, B yLku C yuf fk{Lku 2, 3 yLku 4 f÷kf{kt ÃkY fhe þfu Au, òu çkÄk {¤eLku yk fk{ fhu yLku íkuLkk {kxu {sqheLkk fw÷
YrÃkÞk 390 {¤u Au, íkku B Lku fux÷k YrÃkÞk {¤þu ?

(A) 90 YrÃkÞk (B) 180 YrÃkÞk

(C) 120 YrÃkÞk (D) 130 YrÃkÞk

071. òu çku ÃkkEÃk A yLku B yuf xktfeLku 40 r{rLkx yLku 60 r{rLkx{kt ¼he þfu Au, òu çktLku ÃkkEÃk yufMkkÚku ¾ku÷ðk{kt ykðu
íkku xktfe ¼hðk{kt fux÷ku Mk{Þ ÷køkþu ?

(A) 50 r{rLkx (B) 24 r{rLkx

(C) 100 r{rLkx (D) 30 r{rLkx

072. Lke[uLke ykf]rík{kt fw÷ fux÷k ÷tçk[kuhMk Au ?

(A) 225 (B) 25
(C) 245 (D) 215

073. 1024 økeøkkçkkEx çkhkçkh =

(A) 1 ÃkuxkçkkEx (B) 1 xuhkçkkEx

(C) 1 yufÍkçkkEx (D) 1 ÍuxkçkkEx
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074. {Lkw»ÞLke hurxLkk Ãkh fÞk «fkhLkw r[ºk WÃkMku Au ?

(A) yk¼kMke yLku W÷xw (B) yk¼k»ke yLku MkeÄw

(C) ðkMíkrðf yLku MkeÄw (D) ðkMíkrðf yLku W÷xw

075. Lke[uLkk{ktÚke fkuLke WýÃkÚke AkuzLke ð]ræÄ yxfe òÞ Au, Akuz Ãke¤k Ãkzðk {ktzu Au yLku V¤ Ãkkfíkk Ãknu÷k s ¾hðk {ktzu
Au ?

(A) f÷kurhLk (B) ykÞLko

(C) LkkExÙkusLk (1.3%) LkkExÙux (D) fkuÃkh

076. rðsÞ, ytçkh, MkkuLkk, rð¢{, sðknh yLku rfMkkLk fÞk ÃkkfLke {wÏÞ r{r©ík òíkku Au ?

(A) swðkh (B) {fkE

(C) [ýk (D) {økËk¤

077. Lke[uLkk{ktÚke fkuý ¼khíkLkk ÃkÞkoðhýeÞ yktfzk ynuðk÷ «frþík fhu Au ?

(A) ÃkÞkoðhý {tºkk÷Þ, ¼khík Mkhfkh

(B) ðLk rð¼køk, ¼khík Mkhfkh

(C) MktþkÄLk yLku {kLkðrðfkMk {tºkk÷Þ, ¼khík Mkhfkh

(D) yktfzk yLku fkÞo¢{ y{÷efhý {tºkk÷Þ

078. Lke[uLke Mkwhûkk MkwrðÄkyku fkuLku MktçktrÄík Au ?

 (1) MÃkez yu÷xo rMkMx{

 (2) rhðMko Ãkkfeoøk MkuLMkh

 (3) yuLxe-÷kuf çkúurftøk rMkMx{

 (4) furLËqÞ ÷ku®føk rMkMx{ {kxu {uLÞwy÷ ykuðhhkEz

(A) ykuxku{kuçkkE÷ (B) rð{kLk

(C) snkòu (D) xÙuELk

079. økúnku ðíkwo¤{kt Lkne Ãký ÷tçkøkku¤{kt MkqÞoLke ykswçkksw fhu Au, íku Mkki«Úk{ fkuLkk îkhk Ëþkoððk{kt ykÔÞw níkwt ?

(A) snkuuLMk fux÷h (B) r™fku÷Mk fkuÃkhrLkfMk

(C) xkÞfku çkúknu (D) {kŠxLk ÕÞwÚkh

080. Lke[uLkk{ktÚke fÞwt þheh{ktÚke f[hku çknkh fkZíkwt LkÚke ?

(A) [k{ze (B) Þf]ík

(C) {kuxwt yktíkhzwt (D) {qºkrÃktz

081. Úk{o÷ «Ëq»kýLke «kÚkr{f yMkhku Au.

 (1) siðrðrðÄíkkLkwt  LkwfMkkLk

 (2) ykuøk¤u÷k ykurfMksLk{kt VuhVkh

 (3) Íuh{kt ðÄkhku

(A) (1) yLku (2) (B) (2) yLku (3)

(C) (1) yLku (3) (D) (1) (2) yLku (3)
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082. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku.

(1) {uËkLkLke Mkh¾k{ýeyu ne÷ MxuþLk Ãkh þkf¼kSLku hktÄðk{kt ðÄw Mk{Þ ÷køku Au.

(2) ÃkuxÙku÷Úke ÷køku÷e ykøk{kt ÃkkýeLkku WÃkÞkuøk fhðkÚke ykøk çkqÍkíke LkÚke, fu{fu Ãkkýe ÃkuxÙku÷Úke ¼khu nkuðkÚke Mkhfe
òÞ Au yLku ÃkuxÙku÷ MkÃkkxe Ãkh ykðe òÞ Au yLku Mk¤økðkLkwt [k÷wt hnu Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxw Au. (B) rðÄkLk (2) ¾kuxw yLku (1) Mkk[wt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) çktLku rðÄkLkku ¾kuxk Au.

083. yuMÃkeheLkLke þkuÄ Lke[uLkk{ktÚke fkuýu fhe níke ?

(A) su.yuMk.zLfLk (B) zko.òuMkuV ÷eMxh

(C) hkuçkxo ðe÷nuÕ{ (D) zko.Vu÷efûk nkuV{uLk

084. òu fkuE snks LkËeLkk ÃkkýeÚke Mk{wÿLkk Ãkkýe{kt ykðu Au, íkku ÃkAe íkuLkwt íkr¤Þwt

(A) WAk¤kLku ÷eÄu Ÿ[fkÞ Au. (B) ÃkkýeLkk {kuxk sÚÚkkLku fkhýu Ÿ[fkÞ Au.
(C) ™Ëe yLku ËrhÞkLkk Ãkkýe{kt yuf Mkh¾wt s hnu Au. (D) WÃkh Ãkife yufÃký ™ne.

085. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt rðÄkLk / rðÄkLkku Mkk[w / Mkk[k Au íkkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku

(1) {kLkð rðfkMk Mkq[fyktf{kt MðkMÚÞ, rþûkk yLku ykðfLkk ûkuºkkuLkku {kÃkf íkhefu Mk{kðuþ ÚkÞu÷ Au.

(2) {qÕÞ nkMk (Depreciahion) {þeLkheLkk {qÕÞLkwt LkwfMkkLk Au
(A) (1) (B) (2)
(C) (1) yLku (2) (D) çkLku{ktÚke yufÞ Lkne

086. ykÞw»k{kLk ¼khík {nkí{k økktÄe MðkMÚkÞ rð{k ÞkusLkk fÞk hkßÞ îkhk þY fhðk{kt ykðu÷ Au ?

(A) ykurzMkk (B) Ãkr©{ çktøkk¤

(C) {æÞ «Ëuþ (D) hksMÚkkLk

087. ¼khíkLkwt Ãknu÷w ðLkr[rfíMkk fuLÿ fÞk hkßÞ{kt ¾ku÷ðk{kt ykðu÷ Au ?

(A) rn{k[÷ «Ëuþ (B) AíkeMkøkZ

(C) Wíkhk¾tz (D) Íkh¾tz
088. ËuþLkku Ãknu÷ku çkwræÄMx Úke{ Ãkkfo fÞkt çkLkkðu÷ Au ?

(A) Mkkt[e (B) Ãkxýk

(C) {økÄ (D) MkkhLkkÚk

089. íMkkLk rÞLk ntøk {kWLx yuðhuMxLke MkkiÚke ÍzÃke [Zký fhLkkh ËwrLkÞkLke Ãknu÷e {rn÷k çkLku÷ Au. íkuyku fÞk ËuþLkk Au ?

(A) LkuÃkk¤ (B) nkutøkfkUøk

(C) [eLk (D) òÃkkLk

090. ¼khík{kt Covid-19 xefkfhý fkÞo¢{Lke þYykík fÞk rËðMku ÚkE níke ?

(A) íkk. 14-1-2021 (B) íkk. 15-1-2021

(C) íkk. 16-1-2021 (D) íkk. 18-1-2021

091. (1) MktMÚkkøkík ©uýe{kt Mkw¼k»k[Lÿ çkkuÍ ykÃkËk ÃkwhMfkh, 2021 Mkíkík ÃkÞkoðhý yLku ÃkkrhrMÚkríkf rðfkMk MkkuMkkÞxe
(SEEDS) Lku {¤u÷ Au.

(2) yk ÃkwhMfkh ÔÞrfíkøkík ©uýe{kt zko.hksuLÿfw{kh ¼tzkheLku {¤u÷ Au.

WÃkhLkk rðÄkLk / rðÄkLkku Ãkife fÞwt-fÞk rðÄkLk / rðÄkLk Mkk[w-Mkk[k Au
(A) {kºk (1) (B) {kºk (2)

(C) çktLku{ktÚke yufÞ Lkne (D) (1) yLku (2) çktLku
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092. òu çkkEzLk y{urhfkLkk fux÷k{kt hk»xÙÃkrík çkLku÷ Au ?

(A) 45 {k (B) 46 {k

(C) 44 {k (D) WÃkh Ãkife yufÃký Lkne

093. LkuþLk÷ Úk{o÷ Ãkkðh fkuÃkkuohuþLk r÷r{xuz ÃkkuíkkLkk Úk{o÷ ÃkkðhLkk s¤kþÞ{kt fÞk MÚk¤u ËuþLkw MkkÚke {kuxwt V÷kuxªøk Mkku÷h
Ãkkðh Ã÷kLx MÚkkrÃkík fhLkkh Au ?

(A) MkeLøkúku÷e (B) rhnkLË

(C) hk{køkwtz{ (D) xkÕ[h

094. “rnrÃLkeÞk #rzfk” yLku “rnrÃLkeÞk çkw÷ixk” Lke íkksuíkh{kt MkuLxÙ÷ ÞwrLkðŠMkxe ykuV Ãktòçk, ¼XezkLkk Mk{wÿe
Sðrð¿kkLkeyku îkhk þkuÄ fhðk{kt ykðu÷ Au. yk çku Lkðe «òríkyku þwt Au ?

(A) {UøkúkuðLke Lkðe «òríkyku (B) Mk{wÿe þuðk¤Lke Lkðe «òíkeyku

(C) ËrhÞkE fk[çkkLke Lkðe «òríkyku (D) WÃkh Ãkife yufÃký ™ne

095. Lke[Lkk Ãkife rðÄkLkku rð[khýk{kt ÷ku:

(1) «kusufx ykhE-yu[yu÷e (nkÚke-{kLkð Mkt½»ko ykuAku fhðk {Ä{k¾eykuLkku WÃkÞkuøk) fýkoxfLkk fkuzkøkw{kt þY
fhðk{kt ykðu÷ Au

(2) ¾kËe yLku økúk{kuãkuøk çkkuzo îkhk þY fhðk{kt ykðu÷ Au

(3) yk ¾kËe yLku økúk{kuãkuøk çkkuzo ‘hk»xÙeÞ {Ä r{þLk’Lke ytíkøkoík WÃk-r{þLk

WÃkhLkk rðÄkLk / Lkku Ãkife fÞwt rðÄkLk / Lkku Mkk[wt / Mkk[kt Au ?

(A) (1) (B) (1) yLku (2)

(C) ºkýuÞ{ktÚke yufÃký Mkk[wt LkÚke. (D) (1) (2) yLku (3)

096. ÞwLkkExuz LkuþLMkLkk rhÃkkuxo yLkwMkkh MkMxuLkuçke÷exe ELzuûk, 2020 {kt ¼khíkLkwt MÚkkLk fux÷k ¢{ Ãkh Au ?

(A) 77 (B) 50
(C) 62 (D) 53

097. íkksuíkh{kt fE hkßÞ Mkhfkh îkhk MLkkíkfLkk çkÄk yÇÞkMk¢{kuLkk (¼k»kk rð»kÞ rMkðkÞ) rþûkýLkwt {kæÞ{ ytøkúuS
hk¾ðkLkku rLkýoÞ ÷uðk{kt ykðu÷ Au ?

(A) {nkhk»xÙ (B) yktÄú«Ëuþ

(C) AíkeþøkZ (D) {æÞ«Ëuþ

098. ðirïf þktíke Mkq[fktf (Global peace Index) {kt «Úk{ MÚkkLk fÞk ËuþLku «kó ÚkÞu÷ Au ?

(A) VeLk÷uLz (B) MðexÍ÷uoLz

(C) MðezLk (D) ykEMk÷uLz

099. xkufeÞku Ãkuhk yku÷ÂBÃkf, 2021 {kt ¼khík fÞk ¢{ktf Ãkh hnu÷ Au ?

(A) 20 (B) 19
(C) 24 (D) 21

100. rðï çkuLf îkhk sqLk, 2021 {kt ònuh fhðk{kt ykðu÷ ðuirïf ykŠÚkf Mkt¼kðLkk (Global Economy Prospects)
ynuðk÷, 2022 {kt ð»ko 2021-22 {kxu ¼khíkLkku S.ze.Ãke ð]ræÄ Ëh ....... hnuðkLkwt yLkw{kLk ÷økkððk{kt ykðu÷ Au

(A) 7.5 % (B) 6.5 %
(C) 7.3 % (D) 8.3
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101. Which of the following is a physiological buffer?
(A) Phosphate (B) Bicarbonate
(C) Sodium Chloride (D) Both A&B

102. Replacement therapy may be needed in
(A) Heavy loss of water (B) Prolonged fever
(C) Diarrhea (D) All of the above

103. Which of the following is a systemic alkalizer?
(A) Sodium Chloride (B) Sodium Bicarbonate
(C) Sodium Sulphate (D) None of the above

104. Calcium gluconate is used as
(A) Antacid (B) Antioxidant
(C) Calcium replenisher (D) None of the above

105. Which of the following is a non-systemic antacid?
(A) Magnesium trisilicate (B) Sodium carbonate
(C) Sodium bicarbonate (D) None of the above

106. Which of the following is an anticaries agent?
(A) Sodium fluoride (B) Zinc oxide
(C) Sodium alginate (D) Sodium benzoate

107. Which of the following is also used in sunscreen formulations?
(A) Stannous fluoride (B) Amino benzoic acid
(C) Sodium chloride (D) None of the above

108. Zinc oxide is used as
(A) Astringent (B) Protective
(C) Antiseptic (D) All of the above

109. Which of the following is a natural laxative?
(A) Senna (B) Charcoal
(C) Kaolin (D) Pectin

110. Barium sulphate is used as
(A) Radioactive agent (B) Anti-caries agent
(C) Radiopaque agent (D) None of the above

111. Which of the following is a source of impurity?
(A) Raw material (B) Method of manufacturing
(C) Cross contamination (D) All of the above

112. Which of the following is/are reactive particle/s?
(A) Free radical (B) Carbocation
(C) Carbanion (D) All of the above

113. Shape of methane is
(A) Tetrahedral (B) Trigonal
(C) Dihedral (D) Linear

114. In methyl radicalization, hybridization state is
(A) sp3 (B) sp2

(C) sp (D) None of the above
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115. Which of the following shows the greenhouse effect?
(A) Methane (B) Propane
(C) Nitrogen (D) Oxygen

116. Carboxylic acids can be reduced by
(A) Lithium aluminum hydroxide (B) Aluminum chloride
(C) Magnesium oxide (D) None of the above

117. Which of the following takes place in bimolecular nucleophilic substitution?
(A) Retention of configuration (B) Inversion of configuration
(C) No effect on configuration (D) None of the above

118. Pyridine is basic, because of
(A) Aromatic sextet (B) Heterocyclic ring
(C) Pair of electrons on nitrogen (D) None of the above

119. The correct base pair in DNA is
(A) Adenine-Thymine (B) Guanine-Cytosine
(C) Adenine-Uracil (D) Both A&B

120. Number of rings in cholesterol is
(A) 2 (B) 3
(C) 4 (D) 5

121. Which of the following is a drying oil?
(A) Linseed oil (B) Coconut oil
(C) Soybean oil (D) All of the above

122. Nitration of benzene takes place in the presence of
(A) Nitric acid (B) Nitrous acid
(C) Mixture of sulphuric & nitric acid (D) None of the above

123. Sandmeyer reaction is used to prepare
(A) Alkyl halides (B) Aryl halides
(C) Both A&B (D) None of the above

124. Which of the following is not a non-glyceride lipid?
(A) Sphingolipids (B) Gangliosides
(C) Sulfatides (D) Oleic acid

125. Which of the following is/are human plasma lipoprotein(s)?
(A) Chylomicrons (B) Low density lipoprotein
(C) High density lipoprotein (D) All of the above

126. Which amino acid contains sulphur?
(A) Leucine (B) Methionine
(C) Tyrosine (D) Lysine

127. Tertiary structure of proteins is maintained by
(A) Vander Waals’ forces (B) Hydrogen bonds
(C) Ionic bonds (D) All of the above

128. Which of the following is not a cofactor in enzyme action?
(A) Biotin (B) Niacin
(C) Folic acid (D) All of the above
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129. Which of the following is not a pyridine base?
(A) Thymine (B) Uracil
(C) Guanine (D) Cytosine

130. The major product/s of glycolysis is/are:
(A) ATP (B) NADH
(C) Pyruvate (D) All of the above

131. What is/are the main function/s of dietary fat?
(A) Cell signalling (B) Providing energy
(C) Forming cell membrane (D) All of the above

132. 5Ø7ß-oxidation of fatty acids occurs in
(A) Peroxisome (B) Mitochondria
(C) Endothelial reticulum (D) None of these

133. Base pairs in DNA maintain their structural integrity by
(A) Hydrogen Bonds (B) Hydrophobic Interactions
(C) Van der Waals’ forces (D) None of the above

134. Penicillamine is used as an antidote for
(A) Copper poisoning (B) Mercury poisoning
(C) Lead poisoning (D) All of the above

135. Absorption of alkaloids takes place in
(A) Stomach (B) Intestine
(C) Rectum (D) None of these

136. Which of the following does not undergo intra molecular hydrogen bonding?
(A) Salicylic Acid (B) Methyl Salicylate
(C) Methyl p-hydroxybenzoate (D) o-nitrophenol

137. Which of the following is NOT a chelating agent?
(A) Ethylene diamine tetra acetic acid (B) Deferoxamine
(C) Penicillamine (D) Histamine

138. Which of the following is NOT a Phase-I metabolic pathway?
(A) Oxidation (B) Hydrolysis
(C) Methylation (D) Reduction

139. Gray baby syndrome is caused by
(A) Chloramphenicol (B) Chlortetracycline
(C) Chloroquine (D) None of these

140. Which of the following is a fungicidal?
(A) Erythromycin (B) Polymyxin
(C) Nystatin (D) Rifampicin

141. Chelate formation with calcium & magnesium is exhibited by
(A) Tetracycline (B) Aminoglycosides
(C) Macrolides (D) None of the above

142. Which of the following is a monoamine oxidase inhibitor?
(A) Tranylcypromine (B) Isocarboxazid
(C) Phenelzine (D) All of the above
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143. Which of the following is a cholinergic receptor?
(A) Muscarinic (B) -receptor
(C) -receptor (D) None of the above

144. Carbonic anhydrase is NOT inhibited by
(A) Acetazolamide (B) Methazolamide
(C) Dichlorphenamide (D) Theophylline

145. Which of the following is NOT a prodrug?
(A) Chloramphenicol palmitate (B) Artemether
(C) Ibuprofen (D) Haloperidol decanoate

146. Doxycycline is used to treat
(A) Chest infection (B) Skin infection
(C) Dental infection (D) All of the above

147. Which of the following is a folate reductase inhibitor?
(A) Trimethoprim (B) Sulfanilamide
(C) Sulfathiazole (D) All of the above

148. Ivermectin is a
(A) Antifungal (B) Antiparasitic agent
(C) Antitubercular (D) Antiseptic

149. Which of the following is an anti-neoplastic plant product?
(A) 5-fluorouracil (B) Vincristine
(C) Busulfan (D) Methotrexate

150. Which of the following is a natural local anesthetic compound?
(A) Cocaine (B) Hesylcaine
(C) Isobucaine (D) Piperocaine

151. Histamine is biosynthesized from histidine by
(A) Oxidation (B) Reduction
(C) Decarboxylation (D) None of the above

152. Which of the following propylamine derivative/s is/are used as antihistaminic(s)?
(A) Chlorpheniramine (B) Pyrrobutamine
(C) Brompheniramine (D) All of the above

153. Which of the following is NOT an oral anticoagulant?
(A) Warfarin (B) Heparin
(C) Phenindione (D) Anisindione

154. Which of the following does NOT inhibit platelet aggregation?
(A) Aspirin (B) Sulfinpyrazone
(C) Indomethacin (D) Benzoic acid

155. Which of the following is/are used as a urinary tract anti-infective agent(s)?
(A) Nalidixic acid (B) Methenamine
(C) Nitrofurantoin (D) All of the above
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156. Which of the following software is used for Docking?
(A) GOLD (B) FLEX
(C) Autodock (D) All of the above

157. Which of the following is NOT a neurotransmitter?
(A) Dopamine (B) Acetylcholine
(C) Cyclic AMP (D) Noradrenaline

158. Which of the following is the acceptor of hydrogen bond?
(A) Amine nitrogen (B) Aniline nitrogen
(C) Carboxylate oxygen (D) All of the above

159. Which of the following is not a derivative of benzoic acid?
(A) Meprylcaine (B) Piperocaine
(C) Benzocaine (D) Isobucaine

160. Lidocaine, a local anaesthetic is a/an
(A) Benzoic acid derivative (B) Anilide
(C) Aminobenzoic acid derivative (D) Salicylic acid derivative

161. Testosterone is biosynthesized from:
(A) Acetyl COA (B) Malonic acid
(C) Citric acid (D) None of the above

162. Thymol is the active constituent of
(A) Coriandrum sativum (B) Myristica fragrans
(C) Pelargonium graveolens (D) Trachyspermum ammi

163. Kedde’s test is used for identification of
(A) Isothiocyanide glycoside (B) Cardiac glycoside
(C) Flavonoid glycoside (D) Anthraquinone glycoside

164. Which of the following vector is most widely used in crop improvement and crop management?
(A) Agrobacterium (B) Plasmid
(C) Cosmid (D) All of the above

165. Match the correct pairs of morphological class of drugs
(a) Roots (I) Quassia
(b) Woods (II) Turmeric
(c) Rhizomes (III) Kurchi
(d) Bark (IV) Rauwolfia
(A) a-IV, b-I ,c-II, d-III (B) a-I, b-IV, c-II, d-III
(C) a-IV, b-I, c-III, d-II (D) a-III, b-II, c-I, d-IV

166. Which of the following does NOT come under the class of organized drug?
(A) Leaves (B) Flowers
(C) Fruits (D) Gums

167. One of the following is an example of chemical method of evaluation
(A) Determination of Volatile Oil Content (B) Determination of Refractive Index
(C) Detection of Alkaloids (D) Observation of type of Vascular Bundles
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168. All of the following are microscopical characteristics of fennel except the
(A) Presence of anomocytic stomata (B) Presence of rosette calcium oxalate
(C) Presence of aleurone grains are present (D) Presence of starch grains

169. Bundles of acicular crystal of calcium oxalate is an identification characteristic of
(A) Datura stramonium (B) Erythroxylum coca
(C) Urginea maritima (D) Ailanthus glandulosa

170. Bees wax mainly contains
(A) Palmitin (B) Myricin
(C) Stearin (D) Ceroticacid

171. Reserpine and deserpidine differ each other in respect to
(A) Methoxy group at C-3 position (B) Acetyl group atC-16position
(C) Methyl group atC-10position (D) Methyl groupatC-17position

172. Give the correct match from the followings:
Carbohydrate drugs Biological Sources
(a) Gum ghatti (I) Anogeissus latifolia
(b) Indian gum (II) Cyamopsis tetragonoloba
(c) Gum karaya (III) Sterculia urens
(d) Guar gum (IV) Plantago ovata

(V) Acacia arabica
(VI) Aegle marmelos

(A) a-III, b-II, c-I, d-V (B) a-III, b-VI, c-I, d-II
(C) a-I, b-IV, c-II, d-III (D) a-I, b-V, c-III, d-II

173. Hyoscyamine is used as
(A) Cholinergic (B) Anticholinergic
(C) Adrenergic (D) 5-HTBlocker

174. Which of the following is NOT a tropane alkaloid?
(A) Hyoscyamine (B) Atropine
(C) Diosgenin (D) Scopolamine

175. Give the correct match from the followings
Volatile oils Major terpenoids present
(a) Clove oil (I) Anethol
(b) Fennel oil (II) Eugenol
(c) Eucalyptus oil (III)Cineole
(d) Peppermint oil (IV)Menthol

(V) Limonene
(VI) Farnesol

(A) a-IV, b-I, c-II, d-III (B) a-III, b-II, c-VI, d-IV
(C) a-I, b-II, c-VI, d-V (D) a-II, b-I, c-III, d-IV

176. Which one of the following molecules possesses potential antitumor activity?
(A) Morphine (B) Reserpine
(C) Papaverine (D) Camptothecine
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177. Give the correct match from the followings
Category of alkaloids Alkaloids
(a) Imidazole (I) Papaverine
(b) Indole (II) Reserpine
(c) Isoquinoline (III) Pilocarpine
(d) Steroidal (IV) Conessine

(V) Arecoline
(VI) Pseudoephedrine

(A) a-IV, b-I, c-II, d-III (B) a-III, b-II, c-IV, d-VI
(C) a-III, b-II, c-I, d-IV (D) a-I, b-II, c-VI, d-V

178. The members of DTAB hold the office for a period of
(A) 2Years (B) 3Years
(C) 4Years (D) 5Years

179. Trichoderma is an example of
(A) Biofungicides (B) Bioherbicides
(C) Bioinsecticides (D) None of the above

180. Which of the following instrument is used for estimation of ash content of the crude drugs
(A) Water bath (B) Incinerator
(C) Heating mantle (D) Desiccator

181. Give the correct match from following
Drugs Uses
(a) Camptothecin (I) Rheumatoid arthritis
(b) Boswellic acid (II) Leukemia
(c) Gingkolides (III) Tranquilizer
(d) Valepotriates (IV) Raynaud’s disease

(V) Alopecia
(VI) Prostate cancer

(A) a-IV, b-I, c-II, d-VI (B) a-II, b-I, c-IV, d-III
(C) a-III, b-II, c-I, d-IV (D) a-III, b-II, c-I, d-V

182. Relation between ester value, saponification value and acid value are
(A) Ester value = Saponification value – Acid value
(B) Ester value= Saponification value + Acid value
(C) Acid value = Ester value –Saponification value
(D) Both B and C

183. Which of the following are five essential elements of nature as per Ayurveda?
(A) Air, Earth, Fire, Water, Metal (B) Air, Earth, Fire, Water, Oil
(C) Air, Earth, Fire, Water, Space (D) Air, Earth, Fire, Water, Mind

184. Part II of GMP includes
(A) SOPs (B) Distribution
(C) Medical services (D) Waste management
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185. If an herbal drug contains any harmful or toxic substance which may render it injurious to health,
as per the Drugs and Cosmetic act, such drug is termed as
(A) Adulterated drug (B) Spurious drug
(C) Magical drug (D) Misbranded drug

186. During pregnancy, following cellular adaptation (s) is/are observed in the uterus:
(A) Physiological Atrophy (B) Physiological Hypertrophy
(C) Physiological Hyperplasia (D) Both B and C

187. Which type of necrosis is observed in the centres of foci of tuberculosis infections?
(A) Coagulative necrosis (B) Liquefaction necrosis
(C) Caseous necrosis (D) Fat necrosis

188 Identify the five cardinal signs of inflammation.
(A) Redness, Chills, Swelling, Pain, loss of function
(B) Dry mouth, Redness, Swelling, Pain, loss of function
(C) Redness, Swelling, Heat, Pain, discoloration
(D) Redness, Swelling, Heat, Pain, loss of function

189. Conversion of arachidonic acid to prostaglandins is catalysed by
(A) Phospholipase (B) Kinin
(C) Cyclo-oxygenase (D) Lipo-oxygenase

190. Which of the following is NOT an example of chronic inflammation?
(A) Bacterial Pneumonia (B) Tuberculosis
(C) Syphilis (D) Crohn’s disease

191. Hansen’s disease is caused by
(A) Treponema pallidum (B) Mycobacterium leprae
(C) Neisseria gonorrhoea (D) Cryptococcus neoformans

192. Malignant tumors of epithelial origin are known as
(A) Teratoma (B) Blastoma
(C) Carcinoma (D) Sarcoma

193. Which of the following virus is NOT oncogenic?
(A) Epstein Barr virus (B) Human Herpes virus
(C) Human T-cell lymphotropic virus (D) Pox virus

194. Identify the INCORRECT statements regarding duodenal ulcers.
(i) Pain is severe and is aggravated by food
(ii) Hypersecretion of acid
(iii) Significant loss of weight
(iv) Pain occurs late at night
(A) (i) and (ii) (B) (i) and (iii)
(C) (i), (ii) and (iii) (D) (i), (iii) and (iv)

195. Which of the following statements are TRUE about stable angina?
(i) Attacks of pain following physical exertion or emotional excitement
(ii) Attacks of pain at rest
(iii) ECG shows ST segment depression
(iv) Pathological reports show no elevation of enzymes in blood
(A) (ii) and (iii) (B) (i), (ii) and (iii)
(C) (i), (iii) and (iv) (D) (i) and (ii)
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196. Angiotensinogen REMIN YX Angiotensin II

Identify X and Y.
(A) Angiotensin I, Angiotensin converting enzyme

(B) Angiotensin I, Phospholipase
(C) Prostaglandins, Angiotensin converting enzyme
(D) Aldosterone, Angiotensin converting enzyme

197. Which of the following statements are TRUE regarding polyol pathway in diabetes mellitus?

(i) Aldose reductase converts glucose to sorbitol and fructose in the cells of hyperglycaemic patient.
(ii) This mechanism is responsible for producing lesions in aorta, lens of the eyes, and peripheral

nerves.
(iii) Intracellular accumulation of sorbitol causes myoinositol accumulation in the cell.
(iv) This pathway is beneficial for diabetic patients.

(A) (ii) and (iii) (B) (i), (ii) and (iii)
(C) (i), (iii) and (iv) (D) (i) and (ii)

198. Which of the following statement (s) describe the pathophysiology of GOUT?
(i) Hyperuricemia is the fundamental biochemical hallmark.

(ii) It is a disorder of purine metabolism.
(iii) Renal excretion of uric acid increases.
(iv) Deposition of needle shaped crystals of monosodium urate monohydrate in and around joints

of extremities.
(A) (iii) only (B) (i), (ii) and (iii)

(C) (i), (iii) and (iv) (D) (i), (ii) and (iv)
199. Match the following diseases with their respective features(i)Alzheimer’s diseasePA localized area

of necrosis caused by local vascular occlusion(ii)Parkinson’s diseaseQDisorder of brain function
characterized by periodic and unpredictable occurrence of seizures(iii)EpilepsyRAbnormalities of
posture and movement(iv)Cerebral InfarctionSProgressive senile dementia
(A) (i)-R, (ii)-P, (iii)-S, (iv)-Q (B) (i)-S, (ii)-Q, (iii)-P, (iv)-R
(C) (i)-S, (ii)-R, (iii)-Q, (iv)-P (D) (i)-R, (ii)-S, (iii)-P, (iv)-Q

200. Match the following enzymes with their respective inhibitors(i)Angiotensin Converting
EnzymePAcetazolamide(ii)AromataseQAnastrozole(iii)Carbonic anhydraseRLovastatin(iv)HMG
CoA reductaseSCaptopril
(A) (i)-R, (ii)-P, (iii)-S, (iv)-Q (B) (i)-S, (ii)-Q, (iii)-P, (iv)-R
(C) (i)-S, (ii)-R, (iii)-P, (iv)-Q (D) (i)-Q, (ii)-S, (iii)-P, (iv)-R

201. Which statements are TRUE about Co-trimoxazole?

(i) It is a fixed dose combination of trimethoprim and sulfamethoxazole.
(ii) Sulfamethoxazole and Trimethoprim and are present in a dose ratio of 5:1.
(iii) Half-lives are different for trimethoprim and sulfamethoxazole.
(iv) It is safe during pregnancy.

(A) (i) and (ii) (B) (i), (ii) and (iii)
(C) (i), (iii) and (iv) (D) (i), (ii) and (iv)
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202. Identify the CORRECT statement (s) regarding standard RNTCP regime for Multi-Drug Resistant
Tuberculosis (MDR-TB).
(i) The treatment of MDR-TB consists of 4 drugs intensive phase lasting 6-9 months
(ii) The treatment of MDR-TB consists of 6 drugs intensive phase lasting 6-9 months
(iii) The treatment of MDR-TB consists of 4 drugs continuation phase lasting 6-9 months
(iv) The treatment of MDR-TB consists of 4 drugs continuation phase lasting 18 months
(A) (i) and (iii) (B) (ii) and (iii)
(C) (i) only (D) (ii) and (iv)

203. Which statement (s) is/are FALSE regarding aminoglycosides?
(i) They are bacteriostatic.
(ii) They are active primarily against aerobic gram-negative bacilli.
(iii) They do not cross placenta.
(iv) They are inhibitors of protein synthesis.
(A) (i) only (B) (i) and (iii)
(C) (i), (ii) and (iii) (D) (ii) and (iv)

204. Enoxaparin is a
(A) Low molecular weight heparin (B) Unfractionated heparin
(C) Oral anti-coagulant (D) Vitamin K antagonist

205. Match the diuretic drugs with their mechanism of actions(i)FurosemidePCarbonic anhydrase
inhibitor(ii)ChlorothiazideQAldosterone antagonist(iii)AcetazolamideRInhibitor of Na+-Cl-

symporter(iv)SpironolactoneSInhibitor of Na+-K+-2Cl- cotransporter
(A) (i)-R, (ii)-P, (iii)-S, (iv)-Q (B) (i)-S, (ii)-Q, (iii)-P, (iv)-R
(C) (i)-S, (ii)-R, (iii)-P, (iv)-Q (D) (i)-Q, (ii)-S, (iii)-P, (iv)-R

206. Identify the CORRECT pair of antibiotics with their respective source
(A) Aminoglycosides: Actinomycetes (B) Penicillins: Bacteria
(C) Polymyxin: Fungi (D) Macrolides: Bacteria

207. Which statement is NOT TRUE regarding Aspirin?
(A) It reversibly inactivates cyclooxygenase enzyme
(B) It inhibits platelet aggregation.
(C) When given with warfarin, it can cause a hazardous increase in the risk of bleeding.
(D) It is hydrolysed by esterases yielding salicylate

208. Identify the INCORRECT Agonist-Antagonist pair
(A) Noradrenaline: Propanolol (B) Ethinylestradiol: Danazol
(C) Histamine: Mepyramine (D) Morphine: Naloxone

209. Which of the following vasodilator is used to treat baldness?
(A) Minoxidil (B) Nicorandil
(C) Cromokalim (D) Lemakalim

210. Which statements are CORRECT regarding Phase I of drug metabolism?
(i) Phase I reactions are catabolic.
(ii) Phase I reactions usually result in increased lipid solubility.
(iii) Phase I reactions introduce a relatively reactive group in to the drug molecule.
(iv) Phase I reactions increase renal elimination.
(A) (i) and (ii) (B) (i) and (iii)
(C) (i), (ii) and (iii) (D) (i), (iii) and (iv)
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211. Which of the following pair is INCORRECT?
(A) Paracetamol: Hepatotoxic (B) Streptomycin: Cardiotoxic
(C) Cisplatin: Nephrotoxic (D) Cyclophosphamide: Myelotoxic

212. Cyclophosphamide produces haemorrhagic cystitis. This adverse effect occurs due to
(A) Trifluoroacetic acid (B) N-Acetyl-p-benzoquinone imine
(C) Acrolein (D) Phosgene

213. Which of the following is a fourth-generation cephalosporin?
(A) Cefuroxime (B) Cefepime
(C) Ceftriaxone (D) Cefadroxil

214. Facial bones are _______ in number.
(A) 12 (B) 14
(C) 26 (D) 208

215. Which of the following statement is NOT TRUE regarding skeletal muscles?
(A) Skeletal muscles are striated. (B) Skeletal muscles are involuntary in nature.
(C) Skeletal muscles are multi-nucleated. (D) Skeletal muscles are under conscious control.

216. Which of the following is the largest cranial nerve?
(A) Optic nerve (B) Olfactory nerve
(C) Vagus nerve (D) Trigeminal nerve

217. What is FALSE regarding cardiac output?
(A) Cardiac output is determined by stroke volume and the heart rate.
(B) An increase in cardiac output decreases blood pressure.
(C) Cardiac output decreases with decrease in force of contraction of heart.
(D) Cardiac output increases with increased parasympathetic activity.

218. Where is popliteal artery located?
(A) Behind knee (B) Behind elbow
(C) Pelvic cavity (D) Sole of foot

219. Identify the INCORRECT pair.
(A) Stapes: Ear (B) Humerus: Upper Arm
(C) Tibia: Lower leg (D) Metacarpal bones: Foot

220. Involuntary loss of urine is known as
(A) Micturition (B) Incontinence
(C) Defecation (D) Nocturia

221. Identify the CORRECT statements regarding vermiform appendix.
(i) It is a fine tube, which leads from the caecum.
(ii) It has digestive function.
(iii) It can cause significant problems when it becomes inflamed.
(iv) It is closed at one end.
(A) (i) and (ii) (B) (ii) and (iii)
(C) (i), (ii) and (iii) (D) (i), (iii) and (iv)

222. The amount of air passing into and out of the lungs during each cycle of breathing is known as
(A) Tidal volume (B) Residual volume
(C) Inspiratory reserve volume (D) Expiratory reserve volume
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223. Which of the following statement regarding vasopressin is CORRECT?
(A) It is secreted by anterior pituitary.
(B) It increases urine output.
(C) Hyposecretion of vasopressin cause diabetes insipidus.
(D) It decreases reabsorption of water by kidneys.

224. Identify the genetic disorder in which there are three copies of chromosome 21.
(A) Turner syndrome (B) Klinefelter syndrome
(C) Down syndrome (D) Metafemale syndrome

225. Each ovary is attached to the upper part of the uterus by the ovarian ligament and to the back of
the broad ligament by
(A) Mesovarium (B) Myometrium
(C) Fimbriae (D) Perimetrium

226. Posology is a branch of Pharmacy which deals with
(A) Study of dosage forms (B) Study of doses
(C) Study of drug interaction (D) All of the above

227. Translate Omni nocte into English
(A) Droughts (B) One Tablespoonful
(C) Every night (D) Whenever necessary

228. Urethral suppositories are also called as
(A) Pessaries (B) Nasal bougies
(C) Bougies (D) None of the above

229. How many fluid ounces are in a pint?
(A) 16 (B) 20
(C) 40 (D) None of the above

230. In conductivity test, if bulb glows on passing electric current, what would be the type of emulsion?
(A) w/o emulsion (B) o/w emulsion
(C) Multiple emulsion (D) None of above

231. Which of the following is an example of aqueous bases?
(A) Hydrogenated oil (B) Emulsified cocoa butter
(C) Glycero-gelatin base (D) None of the above

232. Brookfield viscometer is an example of
(A) Cone and plate (B) Extrusion
(C) Rotation sphere (D) Rotating spindle

233. Amorphous form of drug dissolves ………in water than/as the crystalline form.
(A) Slower (B) Faster
(C) Equally (D) None of the above

234. Tragacanth in water exhibits
(A) Plastic flow (B) Pseudoplastic flow
(C) Newtonian flow (D) Dilatants flow

235. The unit of kinematic viscosity is
(A) Dynes/cm2 (B) Dynes.sec/cm
(C) Stokes (D) Poise.
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236. Vaseline exhibits ………at room temperature.
(A) Dilatant flow (B) Plastic flow
(C) Pseudoplastic flow (D) Newtonian flow

237. With rise in temperature, surface tension of a liquid will
(A) Increase (B) Decrease
(C) Remains the same (D) None of the above

238. Sulphur sol is an example of
(A) Lyophillic colloids (B) Lyophobic colloids
(C) Hydrophilic colloids (D) Association colloids

239. Electrodialysis is a method used for
(A) Stabilisation (B) Identification
(C) Purification (D) Synthesis

240. Cake formation is the characteristic feature of a
(A) Flocculated suspensions (B) Deflocculated suspensions
(C) Thixotrophic suspensions (D) Structured suspensions

241. Coulter counter method is used to determine
(A) Particle number (B) Particle interaction
(C) Particle volume (D) Viscosity

242. Anaphylaxis reaction occurs due to
(A) IgA (B) IgE
(C) IgM (D) IgG

243. The stability of lyophobic colloids can be described by
(A) DLVO theory (B) Lyotropic series
(C) Schulze Hardy rule (D) Donnan membrane effect

244. Varicella zoster is the causative organism for
(A) Small pox (B) Dermatophytosis
(C) Herpes (D) Infectious mononucleosis

245. Talcum powder is commonly sterilized by
(A) Dry Heat (B) Moist Heat
(C) Gaseous sterilization (D) All of the above

246. Biological indicator used for moist heat sterilization is
(A) Bacillus subtilis (B) Bacillus pumilus
(C) Bacillus stearothermophilus (D) Aquaticus thermophilus

247. Which test is performed to test the susceptibility to diphtheria?
(A) Schik test (B) Mantoux test
(C) Lepromin test (D) Dick test

248. Temperature used for sterilization of vaccines is
(A) 53-65°C (B) 70-75°C
(C) 90-95°C (D) None of the above

249. Which of the following antibody is pentamer?
(A) IgG (B) IgM
(C) IgA (D) IgD
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250. Which of the following organism has teichoic acids as the main surface antigens?
(A) Gram negative bacteria (B) Gram positive bacteria
(C) Virus (D) None of the above.

251. The causative organism of hepatitis B is
(A) Single-strand DNA (B) Double-strand DNA
(C) Single-strand RNA (D) All of the above

252. Virus mediated transfer of host DNA from one cell to another is known as
(A) Transduction (B) Transformation
(C) Transcription (D) Integration

253. Which of the following is associated with Coomb’s test?
(A) Typhoid (B) Syphilis
(C) Yellow fever (D) Antiglobulin

254. The following tests are used to detect antibodies; EXCEPT
(A) Complement fixation (B) Haemaglutination inhibition
(C) Coagulase test (D) Indirect immunofluorescence

255. The following contain live-attenuated live vaccines, EXCEPT
(A) Polio vaccine (B) Hepatitis A vaccine
(C) Yellow fever vaccine (D) Measles vaccine

256. The following drug acts by inhibiting cell wall synthesis of the micro-organisms
(A) Gentamicin (B) Cefuroxime
(C) Amphotericin B (D) Erythromycin.

257. VDRL test is used to detect
(A) Typhoid (B) Tuberculosis
(C) AIDS (D) Syphilis

258. Heat flow is achieved by actual mixing of warmer portions with cooler portions of the same material,
the process is known as
(A) Drying (B) Conduction
(C) Convection (D) Radiation

259. Which of the following crystallizer uses the evaporation technique to achieve super-saturation?
(A) Circulation magma crystallizer (B) Sternson-Walker crystallizer
(C) Static tank crystallizer (D) All of the above.

260. Gelsication is the term used for
(A) Freeze drying (B) Turbo drying
(C) Vacuum drying (D) Rotary drying

261. Unit of the rate of heat transfer is
(A) Joule (B) Newton
(C) Pascal (D) Watt

262. Following is NOT the mechanism of size reduction
(A) Impact (B) Cutting
(C) Attrition (D) Elutriation

263. Which of the following is NOT a filter aid?
(A) Diatomite (B) Carbon
(C) Gelatin (D) Asbestos
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264. Integrity test is intended for the following filters
(A) Leaf filters (B) Drum filters
(C) Membrane filters (D) Edge filters

265. The equation describing the factors affecting the rate of filtration is
(A) Stokes equation (B) Darcy’s equation
(C) Dalton’s equation (D) None of the above

266. Hammer mill works by following the principle of
(A) Attrition (B) Impact
(C) Compression (D) None of the above

267. The fluid flow in which the fluid particles in one layer do not mix with the fluid particles in the
other layer is called as
(A) Laminar flow (B) Turbulent flow
(C) Layer flow (D) None of the above

268. Following is a most widely used technique for extraction of volatile oils
(A) Azeotropic distillation (B) Steam distillation
(C) Molecular distillation (D) Destructive distillation

269. Ideally the drying should be done to a level of
(A) Equilibrium moisture content (B) Critical moisture content
(C) Zero moisture content (D) None of the above

270. In hard gelatin capsules, the optimum moisture content of capsule shell is between……
(A) 5-8% (B) 8-12%
(C) 20-24% (D) 12-15%

271. Which of the following is used to fill powdered dry solid into soft gelatin capsule?
(A) Accogel (B) Rotobil
(C) Rotosort (D) Rotoweigh

272. In which parenteral preparation pyrogen test in NOT compulsory
(A) Opthalmics (B) Intravenous
(C) Subcutaneous (D) Intramuscular

273. Solid contents of parenteral suspensions usually range between 0.5%-5%, but may go as high as
………..in some antibiotic preparations.
(A) 50% (B) 40%
(C) 30% (D) None of the above

274. Which of the following is an international regulatory authority for drug regulation?
(A) CDSCO (B) EMA
(C) WHO (D) None of the above

275. In hybridoma technology, hybrid cells are selected in
(A) MS medium (B) x-gal medium
(C) Whites medium (D) HAT medium

276. Western blotting technique is used to detect
(A) DNA (B) Protein
(C) RNA (D) Small nucleotide fragments

277. Cosmids are obtained from
(A) Bacteria and virus (B) Virus and Yeast
(C) Yeast and Bacteria (D) Molds and virus
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278. Which of the following disease is protected by BCG vaccine?
(A) Malaria (B) Typhoid
(C) Tuberculosis (D) Plague

279. Which type of restriction enzymes are mainly used in recombinant DNA technology?
(A) Type-I (B) Type-II
(C) Type-III (D) Type-IV

280. Plasmid is obtained from
(A) Bacteria (B) Virus
(C) Yeast (D) Molds

281. Post transcriptional modifications are absent in
(A) Bacteria (B) Yeasts
(C) Moulds (D) Protozoa

282. The first step in PCR is called as
(A) Annealing (B) Denaturation
(C) Extension (D) Priming

283. Which bacterium is used in the production of insulin by genetic engineering?
(A) Saccharomyces (B) Rhizobium
(C) Escherichia (D) Mycobacterium

284. The expression of a transgene in target tissue is identified by a
(A) Promoter (B) Enhancer
(C) Reporter (D) None of the above

285. Sabin is .....type of vaccine
(A) Live (B) Attenuated
(C) Killed (D) None of the above

286. An agent used to clean the surface of teeth and there by decrease the tooth decay and mouth odour
is
(A) Abrasive (B) Dentifrice
(C) Dental paste (D) Dental cone

287. Titanium dioxide is commonly used in
(A) Vanishing cream (B) Sunscreen Cream
(C) Ophthalmic Cream (D) Aqueous calamine cream

288. Vanishing Cream is used to form
(A) Greasy film (B) Non-greasy film
(C) Non-occlusive layer (D) None of the above

289. Resorcinol is used in the preparation of hair tonic, because
(A) It properly mixes in formulations (B) It has antioxidant properties
(C) It has powerful antiseptic properties (D) None of the above

290. Castor oil is used in lipsticks because it is a
(A) Good plasticizing agent (B) High staining agent
(C) Antimicrobial agent (D) Good antioxidant agent

291. Cold cream is an example of
(A) o/w type of emulsion (B) w/o type of emulsion
(C) Adsorbent cream (D) Oleaginous cream
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292. Following is NOT the synthetic humectants
(A) Butylene glycol (B) Allantoin
(C) Stearic acid (D) Glycerin

293. Schedule …..... of the D&C Act 1940 and Rules 1945 deals with the guidelines for Good
Manufacturing Practices
(A) Y (B) M
(C) P (D) X

294. The main objective of the Pharmacy Act, 1948 is to
(A) Regulate the profession of pharmacy
(B) Control the advertisement of drugs
(C) Prevent the infliction of unnecessary pain or suffering on animals
(D) Regulate the sale of narcotic drugs and psychotropic substances

295. Which of the following is a psychotropic substance under the Narcotic Drugs and Psychotropic
Substances Act?
(A) Barbital (B) Ampicillin
(C) Albendazole (D) Chloroquine

296. Schedule K pertains to
(A) List of drugs that can be used with caution under medical supervision
(B) List of drugs exempted from certain provisions governing import of drugs
(C) List of drugs exempted from certain provisions governing manufacture and sale of drugs
(D) List of diseases that a drug cannot claim to cure

297. Which of the following schedule covers standards for mechanical contraceptives?
(A) Schedule S (B) Schedule Q
(C) Schedule R (D) Schedule W

298. Which of the following organization comes under the purview of the Right to Information Act
2005?
(A) Narcotics Control Bureau (B) Aviation Research Centre
(C) Directorate of Enforcement (D) None of the above

299. As per the Code of Pharmaceutical Ethics, which of the following is/are acceptable ethical practice?
(A) Registered pharmacist can give guarantee of therapeutic efficacy
(B) Registered pharmacist can substitute an ingredient without consulting the prescriber
(C) Registered pharmacist can render first aid in emergency
(D) All of the above

300. XYZ pharmaceutical company develops a new tablet coating technology. What type of Intellectual
Property Rights can be used by the company to stop others from copying this technology?
(A) Registered Designs (B) Copyright
(C) Trademark (D) None of the above
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